8 7 6 5 4 | 3 | 2 | 1

ITEM | DWG No | STOCK No DESCRIPTION MATERIAL THK QTY
1 GAE586 Bolded Assembly, Upper Section 1
2 GAP653 Bolted Assembly, Middle Section Filter House 1
3 GAQO014 |ABA450 Gasket, 50 x 5mm Thk, Adhesive on one side EPDM, Neoprene Gasket 1
4 GAQO015 |ABA450 Gasket, 50 x 5mm Thk, Adhesive on one side EPDM, Neoprene Gasket 1
5 GAQO016 |ABA450 Gasket, 50 x 5mm Thk, Adhesive on one side EPDM, Neoprene Gasket 1
6 GAQO017 |ABA450 Gasket, 50 x 5mm Thk, Adhesive on one side EPDM, Neoprene Gasket 1
7 GAQO033 |ABA450 Gasket, 50 x 5mm Thk, Adhesive on one side EPDM, Neoprene Gasket 1
8 AAEG620 Set Screw, M10 x 35mm L, Hex Hd, 316 St Stl, Plain Stainless Steel, 316 113
9 AAAG17 Washer, M10, Flat, Form A, 316 St Stl, Plain Stainless Steel, 316 226
10 |AAA618 Washer, M10, Spring, Single Coil, 316 Stl St, Plain Stainless Steel, 316 113
11 |AAAG16 Nut, M10, Full Hex, 316 St Stl, Plain Stainless Steel, 316 113

AIRFLOW

Isometric
Upstream Face

Isometric

Downstream Face

¢

AIRFLOW

Notes:

1. ALL PROCEDURES MUST CONFORM TO CONTROLLED ISSUE OF

FABRICATION PROCEDURE MANUAL (ENGGTIMUL-P-008E).

2. All hardware to be A4-70.
3. Finish: ASTM A240 TP316L-2B Finish.
4. Clean to ENGGTIMUL-W-033E.

5. See electrical 2D drawings for electrical installation and arrangement.
6. Ensure gaskets are fully airtight to prevent air leakage.

PROPRIETARY AND CONFIDENTIAL
COPYRIGHT 2010, GENERAL ELECTRIC COMPANY.
ALL RIGHTS RESERVED. THIS DRAWING AND THE

INFORMATION CONTAINED OR REPRESENTED
HERE ON REMAINS THE PROPERTY OF GE, AND IS|
LOANED IN STRICT CONFIDENCE WITH THE
UNDERSTANDING THAT IT WILL NOT BE

TOLERANCES: (METRIC)
(UNLESS OTHERWISE
SPECIFIED)

EN 22768-1 1993
CLASS C-COARSE

TOLERANCES: (IMPERIAL}
(UNLESS OTHERWISE
SPECIFIED)
FABRICATION: "1/16"[1.6mm]
ASSEMBLY: "1/8"[3.2MM]
X. - REF. NOT APPLICABLE

Estimated Weight
3321.5 kg

SIGNATURES

DA-MO-YR
GE

DRAWN BY

Energy

CHECKED BY

DATE
Omega Park, Alton

Hampshire, GU34 2QE, UK

Bolted Assembly, Upper Filter House

REPRODUCED NOR USED FOR ANY PURPOSE TABLES 1,2 & 3 APPLY X "L ‘CHECKED BY DATE Telephone: +44(0)1420 541188 F | |te|’ H ouse
EXCEPT THAT FOR WHICH IT IS LOANED. THIS 4001 UPWARDS "6 XX .02 Phil Montague 310172011 Fax:  +44(0)1420 541298
DRAWING SHALL BE IMMEDIATELY RETURNED OR XXX .01 -mail: i i
BT ROr L O REOUEST b1 Supmeer 1o | HOLE CENTRES HOLE CENTRES ALL WELD SYMBOLS CONFORM TO  tmovessr E-mail: info.glif@ge.com
* 1mm NON-CUMULATIVE *1/32" NON-CUMULATIVE ;
: ALL OTHER TERMS AND CONDITIONS OF ANY
0 21Jan 11 s 48513399 Original WRITTEN AGREEMENT OR PURCHASE ORDER ANGULARITY 10" ISO 2553 : 1993 Richard Steele 01/02/2011 SIZE: | SHT DRAWING NO EV
WHICH INCORPORATES OR RELATES TO THE FORGINGS AND CASTINGS: DO NOT SCALE DRAWING - DIMENSIONS IN MILLIMETRES [INCHES] Al 1 of 2 G A P 6 5 2 0
REV| DATE DRAWN APPROVED E.C.N. REVISION DRAWING THIRD ANGLE PROJECTION @G
8 7 6 5 4 3 2 | 1




8 7 6 5 3 2 1
[ (e}
s ‘B 3 t
B O R R R
(N
o
| o
o lo
ol o
= =
AIRFLOW ° °
s =5 o o
iy i> ] [
o o
q o
o o
1 of lo
1 ol
] °l I°
| 1 | Detail A
) Typ in 113 Positions)
o —p 7 s (
— . Plan ‘
Section A-A AIRFLOW
12 x 150 = 1800 Crs 12 x 150 = 1800 Crs ; 1
N
77 Crs
P
) 2002 331 90 Crs 77 Crs
77 Crs A
‘ f
77 Crs ‘ - Tack weld nuts to screws
5 & Y] i this row only.
=1 [° m h7an S S ———————— = = £ S —————————vr: : Detail G y
|| ) 3 1
L o S . .
=3 c
c El 4
b K T . . s}
o . o
o ° o
| [olz] 2 f /8
= o — -
3 [ 5 . L.
8 a 1
(%] 3 T ] . . 8
3 58 - o 2 -
= c b 2 S| B . 4 G x
s T ) 3 % 3 @ _
= m b ® a . o o T N 7
> s ! g g o | . g —]
£ ] & N _ S ® o« | >
] I R b | o T v T e e v R S S S S S ) e}
Q. v ¥ v v ¥ v v v v v (e}
2 > PPy b o Y " ! . . . T .. . e o
5 o b g S . . 4 3
- . . g3 . { g g * AN
S 2 = L = °l g Tack weld nuts
3 ® L ” = 5 . . g ack weld nuts to screws
~ @ = £ T @ N . this row only.
° i = g 5 . el y Detail F
<]
3 b= T K . 3
AIRFLOW - o 7 2] —
b CI>.> @ ° ° (@) x
(e} 6 < )
b < . of N
g $ 1 m
3 .
) & L = 3
B Lo B S O D
A} b\
\ o
< \ 13 <
: o1z) ’ - A Ka
2664 Overall 4138 Overall I[
; Downstream Face .
RH Side Detail H
PROPRIETARY AND CONFIDENTIAL . ) SIGNATURES PAMOYR GE
COPYRIGHT 2010, GENERAL ELECTRIC COMPANY. T%m% Estimated Welght DRAWN BY DATE
ALL RIGHTS RESERVED. THIS DRAWING AND THE :
INFORMATION CONTAINED OR REPRESENTED %% SPECIFIED) 33215 k Energy Bolted Assembly, Uppel’ Filter House
HERE ON REMAINS THE PROPERTY OF GE, AND IS SPECIFIED) FABRICATION: *1/16'(1.6mm] =2 Kg CHEGKED BY AT
LOANED IN STRICT CONFIDENCE WITH THE EN 22768-1 1993 ASSEMBLY: “18"[3:2MM] Omega Park, Alton
UNDERSTANDING THAT IT WILL NOT BE CLASS C-COARSE X. - REF. NOT APPLICABLE Hampshire, GU34 2QE, UK .
REPRODUCED NOR USED FOR ANY PURPOSE TABLES 1,2 & 3 APPLY X "L CHECKED BY DATE Telephone: +44(0)1420 541188 Fi |ter House
EXCEPT THAT FOR WHICH IT IS LOANED. THIS 4001 UPWARDS ‘6 o Phil Montague 310172011 Fax: +44(0)1420 541298
DRAWING SHALL BE IMMEDIATELY RETURNED OR E-mail: info.gtif@ge.com
DESTROYED ON REQUEST, AND IS SUBJECT T | . HOLE CENTRES: HOLE CENTRES ALL WELD SYMBOLS CONFORM TO APPROVED BY AT
— 1mm NON-CUMULATIVE "1/32" NON-CUMULATIVE ;
0 21 Jan 11 LJs 48513399 Original Q;ﬁﬁgﬁfgﬂﬁfgﬁﬁ%g%ﬁﬂgm;%lﬁg ANGULARITY 10" ISO 2553 : 1993 Richard Steele 01/02/2011 SIZE: | SHT DRAWING NO. REV
WHICH INCORPORATES OR RELATES TO THE FORGINGS AND CASTINGS: DO NOT SCALE DRAWING - DIMENSIONS IN MILLIMETRES INCHES] | A\ ] of G A P 6 5 2 0
REV| DATE DRAWN APPROVED E.C.N. REVISION DRAWING THIRD ANGLE PROJECTION @'6
8 | 7 6 5 4 3 2 1




